EARAROBEEIERT — 2 N— IBISH —F

20125682680 (K) 7EIEMH4H

IRV > %4t C2= (xwlw | lmEmml - |5 @) o 8

[KE4£] 1% :250,000 " ~ 23#%&:45000M  3#&:22,500"  4#&:12500M8  57#&:7,50 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

117lg| v Fx b—s 4 5 ;E’rgﬁz 1:(3_1).6 4-4-2-1 | 39.8| — 1 493 ;léggif (Em)
L:7L>FFE2T71 B XA — b3 K (-3) oK s

2 3| TLF—A1O— o4 | NRE- 1:(352).4 8-8-7-8 |39.2| — | 8 | 403 g{éigﬁi (EH)
L:2Y2Y3AY B:ILF-—N—h #3) [hilkse

3011 | NLZX it 4 wﬁf’ém 1(:13/22.>5 7-7-8-6 | 39.4| — 10 | 410 2%%? (Pafs)
TAVALRZ BIIXTIVRTITX (#3) KEH

4l5|5|ZU—Oyx— %5 | MRS (11:332/.5 =112 (415 — | 5 | 445 gﬁ%ﬁ(fﬁ}%
RS AANAXS BANUTRAZXA )| ms

5lglg| 7Ustx=H 5 %é@ﬂ_%— 1(732t§a 3344 |43 — | 3 | 479 ﬁzﬁf Gl
LYy I TLrT e Bie/FIE— (-5) =EStie

N . BEEIY Y. Be g | g | e -] 0] g LR
R:RFrg—HPI—IK B:3U37 535 KHiis

7 REPAPEVYS i 7 f;?az?%ﬁ 1(73?:> 6-6-5-5 |41.0| — 8 442 ,5}%%; (Pafs)
QiF =B U= BAYT ALY p— 0| s

slglio| xp13570 it 4 g*g)é& 1(/73?:) 10-10-10-10{ 39.1 | — 7 441 gggg (Faf)
AT AT BAFTHY— ) e wm

9 6l 7URRY—L o4 Ez%@ﬁ (173273) 2-2-2-3 |41.8| — | 2 | 481 QEEE?E(EW
Qi s IUR BiRE—KU—L 2 | me mz

tolz| 7| TvoBR 4 gg?giﬂ 1(733531 5567 |41.1| — | 4 | 455 ggi témx)
Qi k=t Hr X B ) mmz sy K

® 1—F—@EBIERL

13-7— |56,987,4,1,3,.2,10

2a=5F= 5,6,9,8,7,4,1,3,2,10

== 5,(6,8),9,4,7,3,1,2,10

40 —F— 8,5,6,9,4,1,7,3,2,10

[ N5

B 8 110M 714K 3-8 550 e E 3-7 2,150 JEE 1-3-8 21,050

B B 8 110 1-8 1,850 B = 3-8 2,050M EE 8-3-1 40,720M

3 630 1-3 11,420 B H 8-3 1,730H
1 1,890

ABICOVWTRDTEEERROODE. TR LIV,




